PSE 476
Homework #10
Due 2/9/05

This is not an electronic turn in assignment.  This assignment needs to be turned in to me by 3:30 Wednesday afternoon. (In class would be best but I’m not holding my breath) 
	1. Please draw the reaction products (and intermediates) for the "stopping" reaction of this molecule.  (Students who did not take PSE 406 should really come talk to me about this question).  (4 points)
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	2. .Please show the reaction pathway (all the steps with arrows) for the conversion of galactose to an isosaccharininc acid (4 points)


	3. Imagine that you would like to produce isosaccharinic acids from wood hemicelluloses for use as concrete set retarding agents.  Would it be best to produce these from hardwoods or softwoods?  Please explain why you chose your answer. (2 points)   (Once again non PSE 406 students I am available)



	4. Please explain why glycosidic cleavage of cellulose is more of a problem than the peeling reaction.  (1 point)


	5. What type of compound is the precursor for hexenuronic acids? (1 point)
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